
Assignment 10 
 
 
Q1: Fill in the gap or, Write True/False. If False, write the proper answer and if True, write the 
mechanism/specific example of a material:           
 

a) Cell differentiation is the same as cell replication.      
   
 
 

b) Human body consists typically of the order of   i) 106,  ii) 109, iii) 1014, iv) 103 no. of cells. 
  
 

 
c) If osteoblast cells, under certain physiological conditions, change to osteoclast cell type; such 

transition is known as ___________________.       
    

 
 

d) The broader electrochemical condition of a living human body is characterised by a range of pH 
values: 
i) 3-6,     ii) 7-8,    iii) 2-12   and iv) 6-8 

 
e) Non-linear stress strain response is observed by actin filaments.      

  
 

f) Unstable configuration or conformation of a protein molecule is known as ________________.     
  

 
g) The binding of ligands to a protein molecule occurs via ______________________ bonds. 

  
 

h) Fibroblasts are contained ………………………………………… tissue (type of tissue!).  

  

i) A natural human bone can be best described as …………………………………… (type of) 

composite with major composition as ………………………………… and 

……………………………….          

          
j) Any material to be an ideal bone replacement material, biocompatibility property is a necessary 

but not sufficient property.         
   
 

k) Primary structure of various protein molecules is distinguished by ___________ of amino acids.    
 

 
l) An eukaryotic cell contains ___________________ number of protein molecules.   

  



Q2. Identify first the following biomedical device/molecule and then identify the 
components/dimensions of various parts:        
      

                                  
 

(a)            (b) 

 

 

 

 

  



 


